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L mmnrrelating to nmin inn
a. Dispute o'pono» 7. which day of 110 the m1aTn NIwY were given
i. Note: all agree that they arrived at »0 720, per vv. 1-2; all agree that 7"nwy were given on naw, per vv. 3-4
ii. Disagreement: what day of the week was jpo n" ("o "1 - R BY; 1127 -1 DV)
1. »op /1 on R DV there were no commands (resting up from journey); on 1, command involving v. 5; on 3
he gave them n523n mxn and they separated on 7 BY (=6 MY until before naw)
2. j237: (same as *0v ", one day later, but nw»a was only from 'n v, leaving 4 full MY per p"ar above)
a.  Challenge (to »or 77): v. 6 implies only 2 days of nwna
b. Answer: nwn added a day — one of 3 things he did of his own accord and 'n confirmed
i. 7©779. he added an extra day (per above)
1. Argument: v. 6 compares nvn::Inn; NN includes night before, so too nyn->need another day
2. Confirmation: n»3w didn’t come to rest on >0 10 until that extra day was complete
ii. 7©779. he abstained from relations with nax
1. Reasoning: v"p from nmn jnn; if 13, who would only have a one-time meeting, needed 3
days of preparation (v. 7) ; non who would be addressed by 'n at any moment...
2. Confirmation: v. 8 (some see v. 9 as Divine confirmation)
iii. mmb5. he broke the mmb
1. Reasoning: if noa, which is 1 mxn, is banned from heretics (v. 10); v"p the entire n1n
2. Confirmation: v. 11 — interpreted as n1aww n3 w»!
c.  Challenge (fo »oy ’3): v. 12 indicates that the 3¢ day from nw»a would be n1n nn

i. Answer: we already pointed out *0v "1’s opinion that nwn added a day of his own accord
d. Challenge (12375): X1 interprets 'w5v (v. 12) as both nawa s and wna » -
i. Answer: that follows 01 "3
ii. Tangent: description of the mode of speech used by nwn (1 and aw")
iii. Tangent: explanation of »»w according to 12171 — 6 days since they camped or traveled (v. 14)

1. Note: 527 »0v "1 agree that 12 left n»13¥n on n nY; dispute if 9% was ®5n (1121) or qon ()
2. 977. vv. 15-17 indicate that 77® 0 was naw (=110 n”1 was on 'R D7)
a.  Defense: 778 was 12wn
3. Challenge (?wx "15 Arannp »22an 77): k11 which identifies v. 18 as naw
a. Ifso: 0% n™ of the year before should have been 1 oy
i. Answer: according to 'ov 9, they made 7 n»on that year; 13279 — 8 oon

www.dafyomivicc.org 80 © Yitzchak Etshalom 2012




